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Multiple Choice Questions
Which of the following is not an 1/O device?
a. Printer b. CPU c. Plotter d. Scanner

Which of the following is not a pointing device?
a. Mouse b. Light pen c. Keyboard d. Trackball

Which of the following is not a storage device ?
a. CD ROM b. DVD c. Plotter d. Flash drive

Whom do you think is the most probable user of a Light Pen?
a. Computer Programmer b. Graphic Designer
c. Journalist d. Scientist

Name the type of mouse which uses laser technology to detect the motion of the ball
a. Optical Mouse b. Mechanical Mouse
c. Opto Mechanical mouse d. All of these

Fill in the blanks
The printed information on the paper is called

The first scanner was the scanner introduced in 1957

printers produce images by spraying tiny droplets of ink onto the

is a type of scanner that can detect marks made with ink or pencil.

is the light sensitive pointing device.
State True or False
A scanner is an output device
Storage capacity of a DVD is more than the capacity of Blu — ray Disk

Inkjet is a non — impact printer

An LCD monitor allows the user to input information by touching the icons on the screen
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Speech software is an output device to pay sound
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